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Paper / Subject Code: 58603 / Basic Electrical Engineering.

tr E. ( Ftl 0rranchesJ CcOl CSe,rm-rJ

Questicn hi*. X is coannluisory.
Answer any 3 questiorts from ti'rc rslnainir:g 5 qurestions.

Assulrtc suitabie Cata rvhcrever nccessary.

Ii*lve the fblitu,ing
{a} t"ist*g s*urce trar':sfirrmalion. fi:rci X in th* u:ircuit s}:(}\vlt"

{b) Derive eml equation for single phase ualsformer.

ic) Show that the sum of three phase ernf s is zerc in a three phase ac circuit.
(d) Compare series aad parallel resonant circr"rit.

(a)CoilA takes 2A at power factor of 0.8 lagging r.vith an applied voltage ol'
10 V, second coil B takes 2 A with porver factor ofl0.7 lagging uith applied

voltage of 5V. What voltage will be required to produce a total current r:f
2 A with coil A and B in series. Find power factor in this case.

{h) Draw no load phasor diagram of transfcrmer and explairi it.

{c) Ilxplain rvorking principie of DC motor anciDC generator.

(a) Using Thevenin's Thecrem, obtain the power drarvn by 20fl resistor in the

network shown below.
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the po\\ier" is :n*asureri h3, lro qrattn:*ters. th*
Iletermine the pol\.rer tact*r *f the slst*fi:.

{c} Find t}:e R}-{s vaiLxe oi'tj:e rvayei?}rr"xr.
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(a) A parallel circuit consists of 2.5pF capacitor and a coil whose resistance and
ir:ductance are l5 {-J and 260 mH respecrively. Deteunine Lonurn, fi:eque*cv.e
factor of the circuit at resonance and?,v'arnic impedance of the circuit.

(bla uianced deita connected load has impeclance of (la.l5l-.i200) e in each
branch. Detennine branch curent, line current, total power iaken if balanced
three phase 400v. 50 Hz suppry is useir. Horv much io*;; is absorbed in each
branch of delta?

(c) find the equivalenr resisrance berween A&8.

th) in a halar:csil ri:ree phriss circuir.
re"tio *f rvat{u:eter rearting is 2:} .
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Q5 (a) Furd the ourre]1t thr*ugh 6ft resistiulce using lrlodai anal1'sis.
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{b} Fi*d Ii& h.

(c) A single phase 440/??0V. i0 KVA, 50 blztranstbmrer has resistance of 0.2fi
and reactance of0.6 Q on high voltage side. The corresponding values ofiuw
voltage side are 0.04 () and 0.014 Q. Caicuiate the regulation on fulI ioad far 0.8

iagging power factor.

(a) Determine the relationship befi.veen phase and iine voltage and current for star

connecied baianced load across a three pha-se balanced systern.

(b) gy mesh anal-".'sis, {ind V.
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Paper I Subject Code: 58603 lBasic Electrical Engineering.

c) If r'= 100 sin3t. determine braneh current Ir& Iz with their pirase angle and total
current supplied b.r the source and its phase angle.
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